

HIGHLANDS COUNTY BOARD OF COUNTY COMMISSIONERS (HCBCC) PURCHASING DIVISION

DATE: March 14, 2019

BID NO. ITB 19-027 ADDENDUM No. 1

Project.: Basic Life Support Pharmaceuticals and Supplies

This addendum is being issued to address questions received and provide clarification.

1. Line #46 of Bid# 19-027 Basic Life Support is listed as Posey 2528 limb holders. This item has been discontinued, see attached letter. The suggested substitute is 2530. Will it be acceptable to bid this for this line?

Answer: Yes, Posey item 2530 is a proper substitute.

Basic Life Support Pharmaceuticals and Supplies
 Please consider this a public records request to view the existing contract for the above referenced items.

Answer: See the attached Award document for the prior year.



HIGHLANDS COUNTY BOARD OF COUNTY COMMISSIONERS Purchasing Divison

NOTICE OF AWARD

AWARD TABULATION OF SEALED BIDS

ITB 18-017 BASIC LIFE SUPPORT SUPPLIES

Bid opening: 2/13/2018

BASE FOR

				ACC. ALCOHOLOGY THEOLOGY		AWARD		2000 - 1740 - 1740 - 2000	
NOM	1 DESCRIPTION	MANUFACTURER	MFG ITEM #	VENDORS ITEM #	UNIT / BASE FOR AWARD	PRICE PER UNIT	CASE	PRICE PER CASE	RANK
-	3" Conforming Stretch Gauze Bandage	dage							
	Nashville Med. & EMS	Kentron	440003	440003	Each	\$0.0946	96	\$9.08	1
	Midwest Medical Supply	Dynarex	3103	DYN3103	Each	\$0.0980	96	\$9.41	2
	Bound Tree Medical	Dukal	8518	276-8518BG	Each	\$0.1100	96	\$10.56	m
	Henry Schein, Inc.	Covidien	2244	8907242	Each	\$0.2900	12	\$3.48	4
	Moore Medical	Dukal	703	73979	Each	\$0.3017	96	\$28.96	2
7	1" hypo-allergenic cloth tape								
	Nashville Med. & EMS	Kentron	705-211	705-211	Each	\$0.5700	144	\$82.08	1
	Henry Schein, Inc.	Dynarex	3562	4990655	Each	\$0.6000	12	\$7.20	2
	Bound Tree Medical	Dynarex	3562	F165631	Each	\$0.6600	144	\$95.04	m
	Midwest Medical Supply	Dynarex	3562	DNYN3562	Each	\$0.6600	144	\$95.04	33
	Moore Medical	Covidien	7138C	17530	Each	\$0.9000	120	\$108.00	4
e	3" hypo-allergenic cloth tape						A STATE OF THE STA		AND CARDON
	Nashville Med. & EMS	Kentron	705-213	705-213	Each	\$1.7100	48	\$82.08	1
	Henry Schein, Inc.	Dynarex	3564	4990699	Each	\$1.8100	4	\$7.24	2
	Bound Tree Medical	Dynarex	3564	F165633	Each	\$1.9800	48	\$95.04	m
	Midwest Medical Supply	Dynarex	3563	DYN3564	Each	\$1.9800	48	\$95.04	m
	Moore Medical	Covidien	7140C	74281	Each	\$3.3500	40	\$134.00	4
4	1" Band-Aids								Charles of the Control of the Contro
	Henry Schein, Inc.	Henry Schein	1126142	1126142	Each	\$0.0100	100	\$1.00	1
	Nashville Med. & EMS	Kentron	880013	880013	Each	\$0.0108	100	\$1.08	2
	Midwest Medical Supply	ASO	CBD2019-012-000	ASOCBD2019-012-000	Each	\$0.0113	1200	\$13.56	m
	Bound Tree Medical	Dynarex	3602	083602	Each	\$0.0148	2400	\$35.52	4

	The second secon					AWARD			
NOM	DESCRIPTION	MANUFACTURER	MFG ITEM #	VENDORS ITEM #	UNIT / BASE FOR AWARD	PRICE PER UNIT	CASE	PRICE PER CASE	RANK
	Moore Medical	Moore		68181	Each	\$0.0213	1200	\$25.56	5
s	2" Band-Aids								
	Moore Medical	Moore		68183	Each	\$0.0321	1200	\$38.52	F
	Nashville Med. & EMS	Kentron	8800245	8800245	Each	\$0.0410	1200	\$49.20	2
	Midwest Medical Supply	ASO	CBD2016-012-000	ASOCBD2016-012-000	Each	\$0.0420	009	\$25.20	3
	Henry Schein, Inc.	ASO	CBD2016	1669802	Each	\$0.0500	20	\$2.50	4
	Bound Tree Medical	Dynarex	3634	F165601	Each	\$0.0614	1200	\$73.68	2
9	5"x9" sterile ABD pads								
	Nashville Med. & EMS	Kentron	777590	777590	Each	\$0.0740	400	\$29.60	1
	Midwest Medical Supply	Dynarex	3501	DYN3501	Each	\$0.0780	400	\$31.20	2
	Moore Medical	Moore		13876	Each	\$0.0840	400	\$33.60	8
	Bound Tree Medical	Dukal	5590	085590	Each	\$0.0856	400	\$34.24	4
	Henry Schein, Inc.	Dukal	5590	1202048	Each	\$0.1000	25	\$2.50	2
7	4"x4", 4-ply sterile sponges								March Sept.
	Henry Schein, Inc.	Henry Schein	1048665	1048665	Each	\$0.0200	20	\$1.00	П
	Nashville Med. & EMS	Kentron	251444	251444	Each	\$0.0220	1200	\$26.40	2
	Midwest Medical Supply	Emphasis	H44421	EMPH44421	Each	\$0.0230	1200	\$27.60	8
	Moore Medical	Covidien	8044	67081	Each	\$0.0444	1200	\$53.28	4
	Bound Tree Medical	Dukal	7454SP	276-7454SP	Each	\$0.0450	800	\$36.00	5
80	4"x4", 8-ply unsterile sponges								
	Midwest Medical Supply	Emphasis	GA44820	EMPGA44820	Each	\$0.0078	4000	\$31.20	-
	Nashville Med. & EMS	Kentron	448111	448111	Each	\$0.0080	4000	\$32.00	2
	Bound Tree Medical	Dukal	8509	276-8509BG	Each	\$0.0132	4000	\$52.80	m
	Moore Medical	Moore		12278	Each	\$0.0160	4000	\$63.80	4
	Henry Schein, Inc.	Henry Schein	1048194	1048194	Each	\$0.0200	200	\$4.00	2
6	2" x 2", 12 ply sterile gauze pads								The same of
	Nashville Med. & EMS	Kentron	22121	22121	Each	\$0.0175	2400	\$42.00	1
	Henry Schein, Inc.	Henry Schein	1004380	1004380	Each	\$0.0200	100	\$2.00	2
	Midwest Medical Supply	Dynarex	3352	DYN3352	Each	\$0.0203	2400	\$48.72	m
	Bound Tree Medical	Medline	PRM21419	1212-00475	Each	\$0.0207	2400	\$49.68	4
	Moore Medical	Moore		08250	Each	\$0.0257	2400	\$61.68	2
10	Triangular bandages-indiv. Wrapped	ed							
	Midwest Medical Supply	MedSource	MS-11050	MSOMS-11050	Each	\$0.1900	240	\$45.60	1
	Bound Tree Medical	Curaplex	STORM-11050	1124-03680	Each	\$0.2300	240	\$55.20	2
	Nashville Med. & EMS	Kentron	363651	363651	Each	\$0.2300	240	\$55.20	2
	Moore Medical	Moore		92750	Each	\$0.3100	240	\$74.40	m

No Bid No Bid RANK m 4 m 4 4 7 m 4 7 ന 4 Ŋ 7 m m Н 4 2 PRICE PER CASE \$3.25 \$199.00 \$3.25 \$199.00 \$12.00 \$12.15 \$9.00 \$12.15 \$30.50 \$1.93 586.00 \$215.00 \$9.00 \$13.00 \$13.50 \$14.00 \$17.50 \$30.50 \$33.00 \$34.50 \$46.50 \$1.52 \$5.94 \$79.20 \$192.50 \$192.50 \$13.50 \$50.76 No Bid No Bid 50 50 20 20 20 20 240 20 20 20 20 2 2 2 2 2 20 20 20 20 t-I W 36 No Bid CASE No Bid PRICE PER UNIT \$0.2400 \$0.2430 \$0.6100 \$0.6900 \$3.9800 \$0.2800 \$0.3500 20.6600 \$0.9300 \$1.9800 \$3.8500 \$1.9300 \$3.2500 \$3.8500 \$3.2500 \$3.9800 \$0.1800 \$0.2430 \$0.2700 \$1.5200 \$0.3300 \$4.3000 \$4.3000 \$0.1800 \$0.2600 \$0.2700 \$0.6100 \$1.4100 No Bid No Bid AWARD BASE FOR **AWARD** UNIT / Each **VENDORS ITEM #** DKM471520R 3172-73315 9007036 VEN1007 9007034 VEN2102 4997057 999308 /EN1207 1209201 999312 4996737 293305 30026 46588 15046 30050 15047 999107 30051 50799 71443 MFG ITEM # 13900R-SET MTR-24103 MTR-24002 MS-25060 999308 471520R 17033OR 293305 999312 CTB40 C0209 30050 C0202 30056 999107 30051 1007 1207 1060 I-TEC I-TEC I-TEC I-TEC I-TEC I-TEC I-TEC I-TEC I-TEC 2101 I-TEC MANUFACTURER 7 ft. Non-rebreathing mask with check valve - adult Adult multigrip head immobilizer No substitutions Child multigrip head immobilizer No substitutions Henry Schein Henry Schein Dick medical Medsource Med-Tech Med-Tech 7 ft. Oxygen cannula - pediatric with curved tip Curaplex Curaplex Curaplex Curaplex Morrison Kentron Kentron Ventlab Kentron Ventlab Ventlab Kentron Rusch I-TEC I-TEC I-TEC 7 ft. Oxygen cannula - adult with curved tip I-TEC I-TEC I-TEC I-TEC I-TEC I-TEC Single use restraint straps; 2 piece 2" x 5' Midwest Medical Supply Nashville Med. & EMS **Bound Tree Medical Bound Tree Medical** Henry Schein, Inc. DESCRIPTION Moore Medical **Moore Medical** Moore Medical Moore Medical Moore Medical NOM Ħ 7 13 12 16

7

No Bid No Bid RANK S 7 ന 4 S 7 ന 4 Ś 7 ന 4 m 4 2 w 4 2 7 PRICE PER CASE \$298.68 \$40.00 \$17.50 \$18.50 \$20.00 \$30.50 \$44.50 \$18.75 \$43.00 \$27.38 \$194.94 \$32.45 \$54.00 \$38.50 \$45.50 \$36.00 \$51.22 \$22.00 \$48.50 \$73.51 \$164.51 \$31.50 \$32.00 \$157.32 \$31.50 No Bid No Bid 36 20 50 20 50 20 2 2 25 25 12 22222 50 50 50 25 50 No Bid No Bid CASE \$0.9100 PRICE PER UNIT \$0.6100 \$0.8900 \$0.6400 \$0.6490 \$1.0800 \$0.8000 \$0.3700 \$0.4000 \$0.7500 \$0.8600 \$24.8900 \$27.3800 \$73.5100 \$0.8200 \$0.7200 \$0.3500 \$0.6300 \$0.8800 \$0.9700 \$164.5100 \$194.9400 \$4.3700 \$1.0244 \$0.6300 \$0.7700 No Bid No Bid AWARD **BASE FOR** AWARD UNIT / Each MEPAREG8725-82D **VENDORS ITEM #** MSOMS-GZM001 870A2CV25B GRA65232 4677310 6114342 380021B VEN2201 999110 4995377 1996154 VEN2301 388401 77016 773010 30058 95188 48333 14068 13874 30053 50808 999119 9280 AREG8725-B2D MS-GZM00150 870A2CV25B MFG ITEM # MS-G2M001 475520RM L370-220-A L370-220-A MTR-25157 78980928 MS-25058 388401 773010 999110 EF600 EF600 EF600 EF600 EF600 14068 36701 65232 30053 999119 30058 2201 2301 1058 3532 Disposable fitted sheets for stretcher; white; 30"x72" No sbustitutions MANUFACTURER **Graham Medical** Cramer Decker Regulator Brass w/2 50psi ports 1-25 lpm LSP Rhino Tidi Products 7 ft. non-rebreathing mask with check valve - child Dick medical ADI Medical Medsource Medsource Medsource Med-Tech Kentron Curaplex Curaplex Kentron Curaplex Ventlab Kentron Dynarex Ventlab Kentron AllCare Kentron AllCare AllCare 7 ft. oxygen mask - high concentration infant AllCare Moore Meret Rusch Allied Allied Fluid resistant flat sheets; dark blue Midwest Medical Supply Multi-trauma dressing 10x30 Nashville Med. & EMS **Bound Tree Medical Bound Tree Medical** Henry Schein, Inc. DESCRIPTION Moore Medical NON 17 138 5 20 71

22

No Bid RANK No Bid 4 'n 7 m 4 S m m 4 4 m -_ ~ S 7 m 4 S \vdash m 7 2 4 PRICE PER CASE \$130.56 \$112.00 \$17.00 \$27.00 \$9.03 \$9.08 \$23.75 \$24.75 \$45.60 \$59.20 \$10.22 \$11.39 \$12.80 \$109.08 \$144.60 \$12.07 \$148.80 \$160.20 \$80.64 \$120.00 \$129.12 \$132.48 \$140.64 \$16.50 \$231.00 \$126.96 \$113.04 No Bid No Bid 20 2 12 2 2 12 12 25 24 48 48 48 48 2 2 2 2 No Bid No Bid CASE \$0.5400 PRICE PER UNIT \$2.9600 \$9.0300 \$9.0900 \$9.4200 \$12.0700 \$12.4000 \$13.3500 \$0.9900 \$1.9000 \$2.6900 \$12.8000 \$28,0000 \$0.3400 \$9.0800 \$10.5800 \$12.0500 \$0.9500 \$4.4800 \$2.5000 \$2.7200 \$2.7600 \$2.9300 \$10.2200 \$11.3900 \$0.3300 \$4.6200 No Bid No Bid AWARD **3ASE FOR AWARD** 100 ft UNIT/ 100 ft 100 ft 100 ft 100 ft Each **VENDORS ITEM #** 533-MS-XK10EA CON0048260 GRA54849 **DYN4690** 4990413 B010200 7002487 8900941 8269995 992224 887710 886657 16570 68725 53554 81050 51051 MFG ITEM # 520-211-000 250-211-000 520-211-000 520-211-000 530-212-000 530-212-000 530-212-000 STORM-B300 8888280412 520-211-000 530-212-000 530-212-000 484410 516500 BT-KY10 395497 54849 EB100 484410 484410 484410 484410 992224 44241C 886657 48260 887710 4690 Large-bore suction catheter with thumb control - Yankaur only Ambu-Spur II resuscitator mask, infant/child No substitutions MANUFACTURER Ambu-Spur II resuscitator mask, adult No substitutions Disposable suction canisters, 1200 CC No substitutions **Graham Medical** Cardinal Health Curaplex Curaplex Covidien Conmed Dynarex Kentron Kentron AllCare Kentron Moore AMBU AMBU AMBU AMBU AMBU AMBU AMBU Bernis AMBU AMBU Bernis Bernis Bernis AMBU Bernis Sscor Universal suction tubing 1/4" x 100 Midwest Medical Supply Disposable economical blanket Midwest Medical Supply Nashville Med. & EMS **Bound Tree Medical Bound Tree Medical** Henry Schein, Inc. Henry Schein, Inc. Henry Schein, Inc. DESCRIPTION Henry Schein, Inc. Henry Schein, Inc. Henry Schein, Inc. Henry Schein, Inc. Moore Medical **Moore Medical** Moore Medical Moore Medical Moore Medical ΣON 23 24

22

92

27

28

CASE RANK	id No Bid		\$9.50 1	\$4.56 1	\$10.80 2		\$6.00																						3.36 3.36 3.36 3.30 3.50	000 000 000 000 000 000 000 000 000 00	000 000 000 000 000 000 000 000 000 00	000 000 000 000 000 000 000 000 000 00	000 000 000 000 000 000 000 000 000 00	10 10 10 10 10 10 10 10 10 10 10 10 10 1	000 000 000 000 000 000 000 000 000 00	000 000 000 000 000 000 000 000 000 00
PRICE PER CASE	d No Bid		20	24	48 \$1	24		24								le le									\$				24 S S S S S S S S S S S S S S S S S S S	24 550 000 000 000 000 000 000 000 000 00	24 S S S S S S S S S S S S S S S S S S S	24 00 00 00 00 00 00 00 00 00 00 00 00 00	24	24	24	25
INIT	No Bid		00	00	50	00	00	4																					ON ON	No B	SO S				N	NO N
PRICE PER UNIT	No Bid		\$0.1900	\$0.1900	\$0.2250	\$0.2500	\$0.3900		STATE OF THE PARTY	\$0.0664	\$0.0664	\$0.0664	\$0.0664 \$0.0790 \$0.0798 \$0.1600	\$0.0664 \$0.0790 \$0.0798 \$0.1600 \$0.1600	\$0.06 \$0.07 \$0.07 \$0.16 \$0.16	\$0.0664 \$0.0790 \$0.0798 \$0.1600 \$0.1900	\$0.0664 \$0.0790 \$0.0798 \$0.1600 \$0.1900 \$0.3400 \$0.33900	\$0.0664 \$0.0790 \$0.0798 \$0.1600 \$0.1900 \$0.3400 \$0.3900	\$0.0664 \$0.0790 \$0.0798 \$0.1600 \$0.1900 \$0.3400 \$0.3900 \$0.4600 \$0.4800	\$0.0664 \$0.0798 \$0.0798 \$0.1600 \$0.1900 \$0.3400 \$0.3400 \$0.3400 \$0.4600 \$0.4800	\$0.07 \$0.07 \$0.07 \$0.16 \$0.19 \$0.34 \$0.34 \$0.34 \$0.48	\$0.0664 \$0.0798 \$0.0798 \$0.1600 \$0.1900 \$0.3900 \$0.4600 \$0.4800 \$0.4800	\$0.0664 \$0.0798 \$0.0798 \$0.1600 \$0.1900 \$0.3400 \$0.3900 \$0.4800 \$0.4800 \$0.4800 \$1.3700 \$1.6400	\$0.0664 \$0.0790 \$0.0798 \$0.1600 \$0.3900 \$0.3900 \$0.4600 \$0.4800 \$0.4800 \$0.4800 \$0.4800 \$0.4800 \$0.4800 \$0.4800 \$0.4800	\$0.0664 \$0.0798 \$0.0798 \$0.1600 \$0.1900 \$0.3900 \$0.3900 \$0.4800 \$0.4800 \$0.4800 \$1.7200 \$1.7200	\$0.0664 \$0.0790 \$0.0798 \$0.1600 \$0.1900 \$0.3900 \$0.3900 \$0.4800 \$0.4800 \$0.4800 \$1.3700 \$1.500 \$2.1000 \$2.5300	\$0.06 \$0.07 \$0.07 \$0.16 \$0.19 \$0.39 \$0.39 \$0.48 \$0.48 \$0.48 \$0.48 \$1.37 \$1.37 \$1.37 \$1.21 \$2.10	\$0.0664 \$0.0790 \$0.0798 \$0.0798 \$0.1600 \$0.3400 \$0.3400 \$0.3400 \$0.3400 \$0.4600 \$0.4800 \$1.6400 \$1.6400 \$1.6400 \$1.500 \$2.1000	\$0.06 \$0.07 \$0.07 \$0.19 \$0.39 \$0.39 \$0.48 \$0.48 \$0.48 \$0.48 \$1.37 \$1.64 \$1.72 \$1.64 \$1.72 \$1.53	\$0.07 \$0.07 \$0.07 \$0.16 \$0.19 \$0.39 \$0.48 \$0.48 \$0.48 \$1.37 \$1.64 \$1.72	\$0.06 \$0.07 \$0.07 \$0.16 \$0.19 \$0.39 \$0.39 \$0.48 \$0.48 \$0.48 \$0.48 \$1.37 \$1.37 \$1.37 \$1.37 \$1.37 \$2.10 \$2.10 \$2.53 No Bid No Bid	\$0.06 \$0.07 \$0.07 \$0.19 \$0.19 \$0.39 \$0.39 \$0.48 \$0.39 \$0.48 \$0.48 \$1.72 \$1.64 \$1.64	\$0.06 \$0.07 \$0.07 \$0.19 \$0.19 \$0.39 \$0.39 \$0.48 \$0.48 \$0.48 \$0.48 \$1.72 \$1.64 \$1.64	\$0.0664 \$0.0790 \$0.0790 \$0.1600 \$0.1900 \$0.3900 \$0.3900 \$0.480	\$0.06 \$0.07 \$0.07 \$0.16 \$0.19 \$0.39 \$0.39 \$0.48 \$0.48 \$0.48 \$0.48 \$1.37 \$1.37 \$1.37 \$1.37 \$1.22 \$2.10 No Bid No Bid No Bid	\$0.06 \$0.07 \$0.07 \$0.19 \$0.19 \$0.39 \$0.48 \$0.48 \$0.48 \$0.48 \$0.48 \$1.37 \$1.37 \$1.72 \$1.72 \$2.10 \$2.10 \$2.10 \$2.53 No Bid No Bid No Bid No Bid No Bid
BASE FOR AWARD	Each		Each	Each	Each	Each	Each			Each	Each	Each Each Each	Each Each Each Each	Each Each Each Each Each	Each Each Each Each Each	Each Each Each Each Each Each	Each Each Each Each Each Each Each	Each Each Each Each Each Each Each	Each Each Each Each Each Each Each Each	Each Each Each Each Each Each Each Each	Each Each Each Each Each Each Each Each	Each Each Each Each Each Each Each Each	Each Each Each Each Each Each Each Each	Each Each Each Each Each Each Each Each	Each Each Each Each Each Each Each Each	Each Each Each Each Each Each Each Each	Each Each Each Each Each Each Each Each	Each Each Each Each Each Each Each Each	Each Each Each Each Each Each Each Each	Each Each Each Each Each Each Each Each	Each Each Each Each Each Each Each Each	Each Each Each Each Each Each Each Each	Each Each Each Each Each Each Each Each	Each Each Each Each Each Each Each Each	Each Each Each Each Each Each Each Each	Each Each Each Each Each Each Each Each
VENDORS ITEM #			1431-16000	1126145	561111	81854	DYN4512	Section of the sectio	((((((((((((((((((((G/F4109-1LF	G/F4109-1LF 901100	G/F4109-1LF 901100 1880-92078	901100 1880-92078 8370006	6/F4109-1LF 901100 1880-92078 8370006 90037	901100 1880-92078 8370006 90037	901100 1880-92078 8370006 90037	6/F4109-1LF 901100 1880-92078 8370006 90037	6/F4109-1LF 901100 1880-92078 8370006 90037 201103 721-H14AH-01EA	6/F4109-1LF 901100 1880-92078 8370006 90037 201103 721-H14AH-01EA 1004606	6/F4109-1LF 901100 1880-92078 8370006 90037 201103 721-H14AH-01EA 1004606 88903	6/F4109-1LF 901100 1880-92078 8370006 90037 201103 721-H14AH-01EA 1004606 88903	6/F4109-1LF 901100 1880-92078 8370006 90037 201103 721-H14AH-01EA 1004606 88903	6/F4109-1LF 901100 1880-92078 8370006 90037 201103 721-H14AH-01EA 1004606 88903 88903 MSOMS-BS0033	6/F4109-1LF 901100 1880-92078 8370006 90037 201103 721-H14AH-01EA 1004606 88903 889111 MSOMS-BS0033 4993574	6/F4109-1LF 901100 1880-92078 8370006 90037 721-H14AH-01EA 1004606 88903 889111 MSOMS-BS0033 4993574 30061MS	6/F4109-1LF 901100 1880-92078 8370006 90037 201103 721-H14AH-01EA 1004606 88903 88903 889111 MSOMS-BS0033 4993574 30061MS	6/F4109-11F 901100 1880-92078 8370006 90037 201103 721-H14AH-01EA 1004606 88903 88903 4993574 30061MS 16940	901100 1880-92078 8370006 90037 201103 721-H14AH-01EA 1004606 88903 88903 888111 MSOMS-BS0033 4993574 30061MS 16940	901100 1880-92078 8370006 90037 201103 721-H14AH-01EA 1004606 88903 88903 4993574 30061MS 16940	6/F4109-1LF 901100 1880-92078 8370006 90037 721-H14AH-01EA 1004606 88903 88903 4993574 30061MS 16940	6/F4109-11F 901100 1880-92078 8370006 90037 201103 721-H14AH-01EA 1004606 88903 88903 4993574 30061MS 16940	901100 1880-92078 8370006 90037 201103 721-H14AH-01EA 1004606 88903 88903 4993574 30061MS 16940	901100 1880-92078 8370006 90037 201103 721-H14AH-01EA 1004606 88903 88903 4993574 30061MS 16940	901100 1880-92078 8370006 90037 201103 721-H14AH-01EA 1004606 88903 88903 4993574 30061MS 16940	901100 1880-92078 8370006 90037 201103 721-H14AH-01EA 1004606 88903 88903 4993574 30061MS 16940	901100 1880-92078 8370006 90037 201103 721-H14AH-01EA 1004606 88903 889111 MSOMS-BS0033 4993574 30061MS 16940
MFG ITEM #			1431-16000	126145	561111	97-02	4512		4109-1LF		901100	901100 *dc*10920	901100 *dc*10920 18679	\$01100 *dc*10920 18679 36648	\$01100 *dc*10920 18679 36648	901100 *dc*10920 18679 36648	901100 *dc*10920 18679 36648 201103	\$01100 *dc*10920 18679 36648 201103 H140D-01	901100 *dc*10920 18679 36648 201103 H140D-01 H140-07	901100 *dc*10920 18679 36648 201103 H140D-01 H140D-01	\$01100 *dc*10920 18679 36648 201103 H140D-01 H140D-01 H140D-01	\$01100 *dc*10920 18679 36648 201103 H140D-01 H140D-01 H140D-01 888111	*dc*10920 18679 36648 36648 201103 H140D-01 H140D-01 H140D-01 MS-BS0033	\$01100 *dc*10920 18679 36648 201103 H140D-01 H140D-01 H140D-01 R140D-01 MS-BS0033 BS100	\$01100 *dc*10920 18679 36648 201103 H140D-01 H140D-01 H140D-01 H140D-01 MS-BS0033 BS100 STORM-BS0033	\$01100 *dc*10920 18679 36648 201103 H140D-01 H140D-01 H140D-01 H140D-01 MS-BS0033 BS110 STORM-BS0033 MTR-27016-Z	\$01100 *dc*10920 18679 36648 201103 H140D-01 H140-07 H140D-01 H140D-01 MS-BS0033 BS110 STORM-BS0033 MTR-27016-2	\$01100 *dc*10920 18679 36648 201103 H140D-01 H140D-01 H140D-01 R88111 MS-BS0033 BS100 STORM-BS0033 MTR-27016-Z	\$01100 *dc*10920 18679 36648 201103 H140D-01 H140D-01 H140D-01 H140D-01 MS-BS0033 BS100 STORM-BS0033 MTR-27016-2 I118535	901100 *dc*10920 18679 36648 201103 H140D-01 H140D-01 H140D-01 H140D-01 MS-BS0033 BS110 STORM-BS0033 MTR-27016-2 1118535 1118535	901100 *dc*10920 18679 36648 201103 H140D-01 H140D-01 H140D-01 H140D-01 MS-BS0033 BS110 STORM-BS0033 MTR-27016-2 1118535 1118535 1118535	\$01100 *dc*10920 18679 36648 36648 201103 H140D-01 H140D-01 H140D-01 H140D-01 MS-BS0033 MS-BS0033 MS-BS0033 MS-BS0033 1118535 1118535 1118535 1118535				
MANUFACTURER			Curaplex	Henry Schein	Kentron	Cypress	Dynarex		Graham Medical		Kentron	Kentron	Kentron ADI Avcor	Kentron ADI Avcor Graham Medical	Kentron ADI Avcor Graham Medical	Kentron ADI Avcor Graham Medical	Kentron ADI Avcor Graham Medical Kentron	Kentron ADI Avcor Graham Medical Kentron Medegen Medical	Kentron ADI Avcor Graham Medical Kentron Medegen Medical	Kentron ADI Avcor Graham Medical Kentron Medegen Medical Medegen	Kentron ADI Avcor Graham Medical Kentron Medegen Medical Medegen	Kentron ADI Avcor Graham Medical Kentron Medegen Medegen Medegen Kentron	Kentron ADI Avcor Graham Medical Kentron Medegen Medegen Medegen Medsource	Kentron ADI Avcor Graham Medical Kentron Medegen Medical Medegen Medsen Kentron Medsource AllCare	Kentron ADI Avcor Graham Medical Kentron Medegen Medegen Medegen Medsource AllCare Curaplex	Kentron ADI Avcor Graham Medical Kentron Medegen Medegen Medgen Medsource AllCare Curaplex Med-Tech	Kentron ADI Avcor Graham Medical Kentron Medegen Medical Medgen Medgen Medsource AllCare Curaplex Med-Tech Med-Tech Med-Tech S; small No substitutions	Kentron ADI Avcor Graham Medical Kentron Medegen Medegen Medgen Medsource AllCare Curaplex Med-Tech S; small No substitutions	Kentron ADI Avcor Graham Medical Kentron Medegen Medical Medegen Medegen Curaplex AllCare Curaplex Med-Tech S; small No substitutions Henry Schein Henry Schein	Kentron ADI Avcor Graham Medical Kentron Medegen Medegen Medegen Medsource AllCare Curaplex Med-Tech Med-Tech Henry Schein Henry Schein Henry Schein	Kentron ADI Avcor Graham Medical Kentron Medegen Medical Medegen Medegen Medegen Medegen Medegen Medegen Medegen Henry Schein Henry Schein Henry Schein Henry Schein	Kentron ADI Avcor Graham Medical Kentron Medegen Medical Medegen Medegen Medegen Kentron Medsource AllCare Curaplex Med-Tech Stanall No substitutions Henry Schein Henry Schein Henry Schein Henry Schein Henry Schein	Nashville Med. & EMS Bound Tree Medical Henry Schein, Inc. Moore Medical Midwest Medical Midwest Medical Midwest Medical Moore Medical	Kentron ADI Avcor Graham Medical Kentron Medegen Medical Medegen Medegen Medegen Medegen Medegen Medegen Medegen Medegen Henry Schein	Kentron ADI Avcor Graham Medical Kentron Medegen Medegen Medegen Medegen Medegen Medegen Medegen Medegen Medegen Henry Schein	Kentron ADI Avcor Graham Medical Kentron Medegen Medical Medegen Medegen Medgen Medgen Medsource AllCare Curaplex Med-Tech AllCare Curaplex Henry Schein
DESCRIPTION	Moore Medical	S	Bound Tree Medical	Henry Schein, Inc.	Nashville Med. & EMS	Moore Medical	Midwest Medical Supply	Latex-free Tourniquets	Midwest Medical Supply		Nashville Med. & EMS	Nashville Med. & EMS Bound Tree Medical	Nashville Med. & EMS Bound Tree Medical Henry Schein, Inc.	Nashville Med. & EMS Bound Tree Medical Henry Schein, Inc. Moore Medical	shville Med. & EMS und Tree Medical nry Schein, Inc. oore Medical inals	Nashville Med. & EMS Bound Tree Medical Henry Schein, Inc. Moore Medical urinals Midwest Medical Supply	Nashville Med. & EMS Bound Tree Medical Henry Schein, Inc. Moore Medical urinals Midwest Medical Supply Nashville Med. & EMS	Nashville Med. & EMS Bound Tree Medical Henry Schein, Inc. Moore Medical urinals Midwest Medical Supply Nashville Med. & EMS Bound Tree Medical	Nashville Med. & EMS Bound Tree Medical Henry Schein, Inc. Moore Medical urinals Midwest Medical Supply Nashville Med. & EMS Bound Tree Medical Henry Schein, Inc.	Nashville Med. & EMS Bound Tree Medical Henry Schein, Inc. Moore Medical urinals Midwest Medical Supply Nashville Med. & EMS Bound Tree Medical Henry Schein, Inc.	Nashville Med. & EMS Bound Tree Medical Henry Schein, Inc. Moore Medical Plastic urinals Midwest Medical Supply Nashville Med. & EMS Bound Tree Medical Henry Schein, Inc. Moore Medical Disposable sterile burn sheets	Nashville Med. & EMS Bound Tree Medical Henry Schein, Inc. Moore Medical urinals Midwest Medical Supply Nashville Med. & EMS Bound Tree Medical Henry Schein, Inc. Moore Medical able sterile burn sheets Nashville Med. & EMS	Nashville Med. & EMS Bound Tree Medical Henry Schein, Inc. Moore Medical urinals Midwest Medical Supply Nashville Med. & EMS Bound Tree Medical Henry Schein, Inc. Moore Medical able sterile burn sheets Nashville Med. & EMS	Nashville Med. & EMS Bound Tree Medical Henry Schein, Inc. Moore Medical urinals Midwest Medical Supply Nashville Med. & EMS Bound Tree Medical Henry Schein, Inc. Moore Medical able sterile burn sheets Nashville Med. & EMS Midwest Medical Supply Henry Schein, Inc.	Nashville Med. & EMS Bound Tree Medical Henry Schein, Inc. Moore Medical windwest Medical Supply Nashville Med. & EMS Bound Tree Medical Henry Schein, Inc. Moore Medical Most Medical Most Medical Henry Schein, Inc. Moore Medical Henry Schein, Inc. Moore Medical Able sterile burn sheets Nashville Med. & EMS Midwest Medical Supply Henry Schein, Inc.	Nashville Med. & EMS Bound Tree Medical Henry Schein, Inc. Moore Medical Sidwest Medical Supply Nashville Med. & EMS Bound Tree Medical Henry Schein, Inc. Moore Medical Moore Medical Ablesterile burn sheets Nashville Med. & EMS Midwest Medical Supply Henry Schein, Inc. Moore Medical Spend Tree Medical Moore Medical Supply Henry Schein, Inc. Bound Tree Medical	Nashville Med. & EMS Bound Tree Medical Plastic urinals Midwest Medical Supply Nashville Med. & EMS Bound Tree Medical Moore Medical Moore Medical Moore Medical Moore Medical Moore Medical Moore Medical Midwest Medical Nashville Med. & EMS Medgen Midwest Medical Supply Medsource Henry Schein, Inc. Bound Tree Medical Moore Medical	Nashville Med. & EMS Bound Tree Medical Henry Schein, Inc. Moore Medical urinals Midwest Medical Supply Nashville Med. & EMS Bound Tree Medical Henry Schein, Inc. Moore Medical able sterile burn sheets Nashville Med. & EMS Moore Medical Moore Medical Midwest Medical Midwest Medical Henry Schein, Inc. Bound Tree Medical Moore Medical Moore Medical Henry Schein, Inc.	Nashville Med. & EMS Bound Tree Medical Henry Schein, Inc. Moore Medical urinals Midwest Medical Supply Nashville Med. & EMS Bound Tree Medical Henry Schein, Inc. Moore Medical Supply Henry Schein, Inc. Moore Medical Midwest Medical Supply Henry Schein, Inc. Bound Tree Medical Moore Medical	Nashville Med. & EMS Bound Tree Medical Henry Schein, Inc. Moore Medical urinals Midwest Medical Supply Nashville Med. & EMS Bound Tree Medical Henry Schein, Inc. Moore Medical Moore Medical Supply Henry Schein, Inc. Bound Tree Medical Moore Medical Bound Tree Medical Moore Medical Moore Medical	Nashville Med. & EMS Bound Tree Medical Henry Schein, Inc. Moore Medical Midwest Medical Supply Nashville Med. & EMS Bound Tree Medical Henry Schein, Inc. Moore Medical Able sterile burn sheets Nashville Med. & EMS Midwest Medical Abore Medical Moore Medical	Nashville Med. & EMS Bound Tree Medical Henry Schein, Inc. Moore Medical Midwest Medical Supply Nashville Med. & EMS Bound Tree Medical Henry Schein, Inc. Moore Medical Nashville Med. & EMS Midwest Medical Henry Schein, Inc. Moore Medical Midwest Medical Supply Moore Medical Midwest Medical Supply	und Tree Medical over Medical dwest Medical dwest Medical shville Med. & EMS dwest Medical shville Med. & EMS und Tree Medical over Medical over Medical shville Med. & EMS dwest Medical le sterile burn sheets shville Med. & EMS dwest Medical over Medical powder-free nitrile glove nry Schein, Inc. und Tree Medical powder-free nitrile glove over Medical shville Med. & EMS hville Medical shville Medical shville Medical shville Medical shville Medical shville Medical	Nashville Med. & EMS Bound Tree Medical Henry Schein, Inc. Moore Medical Midwest Medical Supply Nashville Med. & EMS Bound Tree Medical Henry Schein, Inc. Moore Medical Anovest Medical Supply Henry Schein, Inc. Moore Medical Midwest Medical Nashville Med. & EMS on powder-free nitrile glove Henry Schein, Inc.	Nashville Med. & EMS Bound Tree Medical Henry Schein, Inc. Moore Medical urinals Midwest Medical Supply Nashville Med. & EMS Bound Tree Medical Henry Schein, Inc. Moore Medical Able sterile burn sheets Nashville Med. & EMS Nashville Med. & EMS Midwest Medical Supply Henry Schein, Inc. Bound Tree Medical Moore Medical Moore Medical Moore Medical Moore Medical Nashville Med. & EMS Nidwest Medical Midwest Medical Midwest Medical Midwest Medical Nashville Med. & EMS Spund Tree Medical Midwest Medical Midwest Medical Nashville Med. & EMS Shound Tree Medical Nashville Med. & EMS Shound Tree Medical	Nashville Med. & EMS Bound Tree Medical Henry Schein, Inc. Moore Medical Widwest Medical Supply Nashville Med. & EMS Bound Tree Medical Henry Schein, Inc. Moore Medical Able sterile burn sheets Nashville Med. & EMS Midwest Medical Moore Medical Moore Medical Woore Medical Moore Medical Midwest Medical Supply Moore Medical Nashville Med. & EMS Dn powder-free nitrile glove Henry Schein, Inc. Bound Tree Medical Nashville Med. & EMS Dn powder-free nitrile glove Henry Schein, Inc. Bound Tree Medical Supply
	Mo	29 Cold packs	Bot	Her	Nas	Mo	Mic	30 Latex-free	Mic		Nas	Nas	Nas Bou	Nas Bou Her Mo	Plastic	Plastic	Plastic	Plastic	Plastic	Plastic	Plastic	Plastic	Plastic	Plastic	Plastic	Plastic									Nas Bou Hen Moo Mas Bou Mid Hen Mid Moo Mid Moo Mid	

No Bid RANK No Bid ന m m 4 7 m 4 Ś 2 ന PRICE PER CASE \$236.00 \$30.10 \$53.10 \$84.15 \$86.20 \$79.00 \$40.00 \$55.00 \$55.00 \$27.40 \$3.75 \$37.50 \$40.47 \$42.50 \$55.00 \$4.91 \$30.10 \$34.75 \$234.00 No Bid 1350 1000 250 250 1000 1000 1000 1000 500 500 250 250 20 20 No Bid PACK CASE PRICE PER UNIT \$0.0800 \$0.1100 \$3.0100 \$3.0100 \$0.0531 \$0.0623 \$0.0790 \$0.1390 \$0.1619 \$4.6800 \$4.7200 \$0.1100 \$0.1370 \$0.1500 \$0.1700 \$0.2200 \$3.7500 \$0.0862 \$4.9100 No Bid AWARD BASE FOR 100 Each AWARD / LINO Each **VENDORS ITEM #** DIGFS9-5 290116 ACT116 5654216 6091889 6024938 313913 88720 290037 28856 ACT117 20087 48530 9801 MFG ITEM # MK-296-XXL NONHDR43 05EB06000 1118536 1118537 1118539 1118539 1118539 1118539 1118539 1118537 1118537 1118537 1118537 260202 260202 313913 260202 FS9-5 50-42 44-05 260202 N855 F116 116 F117 9801 117 StiffNeck cervical immobilization device (CID); pediatric No substitutions Criterion powder-free nitrile gloves; x-large No substitutions Criterion powder-free nitrile gloves; large No substitutions MANUFACTURER Medegen Medical Henry Schein Powder-free nitrile medical exam gloves; xx-large Mircoflex Microflex Medegen Medegen Medegen Medegen Digitcare Medgen Kentron Unimed Kentron Medline Laerdal Laerdal Laerdal Laerdal Bio-Hazardous red bags; 30 gallon Bio-Hazardous red bags; 5 gallon Midwest Medical Supply Nashville Med. & EMS **Bound Tree Medical Bound Tree Medical** Henry Schein, Inc. DESCRIPTION Moore Medical Moore Medical Moore Medical Moore Medical **Moore Medical** Moore Medical MUN 32 36 37 33 39 8

4

42

No Bid No Bid No Bid RANK No Bid No Bid No Bid 4 m 4 m m 4 m 4 4 ⊣ 7 7 7 7 ന ~ 1 ~ \vdash PRICE PER CASE \$729.60 \$3.75 \$236.00 \$3.75 \$4.91 \$3.75 \$236.00 \$3.75 \$234.00 \$4.91 \$234.00 \$236.00 \$234.00 \$4.91 \$234.00 \$236.00 \$4.91 \$3.90 \$718.00 \$720.00 No Bid No Bid No Bid No Bid No Bid No Bid 20 480 480 480 480 20 20 20 50 50 2 20 No Bid No Bid No Bid No Bid CASE PACK No Bid No Bid PRICE PER UNIT \$4.7200 \$4.6800 \$3.7500 \$4.6800 \$4.9100 \$3.7500 \$4.6800 \$4.7200 \$4.9100 \$3.7500 \$4.7200 \$4.9100 \$3.7500 \$4.6800 \$4.7200 \$4.9100 \$1.4958 \$1.5000 \$1.5200 \$1.6200 \$3.9000 No Bid No Bid No Bid No Bid No Bid No Bid AWARD **BASE FOR** AWARD Each UNIT / Each **VENDORS ITEM #** 48535 16158 15621 15622 47681 MFG ITEM # ВН1100Н 260206 260206 ВН1100Н BH1100H ВН1100Н ВН1100Н 260205 260204 260205 260205 260206 260206 260204 260204 260205 260206 260204 260204 260201 260201 260201 260201 260201 260202 260205 2528 StiffNeck cervical immobilization device (CID); no neck No substitutions StiffNeck cervical immobilization device (CID); regular No substitutions Posey double strap foam limb holders, standard foam No substitutions StiffNeck cervical immobilization device (CID); short No substitutions StiffNeck cervical immobilization device (CID); tall No substitutions MANUFACTURER Bio-Hoop collection bag with hook No substitutions Haetwell Haetwell Hartwell Hartwell Laerdal Hartwell Laerdal Laerdal Laerdai Laerdal Laerda Laerdal Laerdal Laerdal Laerdal Posey Midwest Medical Supply Nashville Med. & EMS **Bound Tree Medical Bound Tree Medical Bound Tree Medical Bound Tree Medical Bound Tree Medical** Henry Schein, Inc. Henry Schein, Inc. Henry Schein, Inc. DESCRIPTION Henry Schein, Inc. Henry Schein, Inc. Moore Medical Moore Medical Moore Medical Moore Medical Moore Medical NOW

4

45

43

No Bid

No Bid

No Bid

No Bid

m

\$4.57

7

\$4.22

\$4.2200

Each Each Each

2528 2528 2528

Posey Posey Posey

Bound Tree Medical

Moore Medical

Henry Schein, Inc.

46

\$4.5700

						AWARD			
NUM	DESCRIPTION	MANUFACTURER	MFG ITEM #	VENDORS ITEM #	UNIT / BASE FOR AWARD	PRICE PER UNIT	CASE	PRICE PER CASE	RANK
	Nashville Med. & EMS	Posey	2528		Each	No Bid	No Bid	No Bid	No Bid
47	Pediatric IV arm board, padded				1011 (101)				
	Henry Schein, Inc.	Precision	45011-15-MPG	8948080	Each	\$0.3300	100	\$33.00	ī
	Midwest Medical Supply	Precision	45004-11-MPG	PRD45004-11-MPG	Each	\$0.5200	100		2
	Bound Tree Medical	Morrison	1005-50	56-1005EA	Each	\$0.8300	50	\$41.50	8
	Moore Medical	Morrison	1005-50	55347	Each	\$0.8700	50	\$43.50	4
	Nashville Med. & EMS	Morrison			Each	No Bid	No Bid	No Bid	No Bid
84	12" Cardboard Splints w/Foam Padding Case	Idding Case	THE REPORT OF THE PARTY OF				Captille Services		
	Nashville Med. & EMS	Dick medical	61012CF	DM61012CF	Each	\$0.6900	36	\$24.84	1
	Midwest Medical Supply	Dick medical	61012MCF	DKM61012MCF	Each	\$0.7000	36		2
	Bound Tree Medical	DMS	61012FF	100099	Each	\$1.0500	+	\$1.05	m
	Henry Schein, Inc.	Morrison	1507-25	2205482	Each	\$1.6600	25	\$41.50	4
	Moore Medical	Dukal		79686	Each	\$1.7700	1	\$1.77	2
49	24" Cardboard Splints w/Foam Padding Case	idding Case							
	Midwest Medical Supply	Dick medical	61024MCF	DKM61024MCF	Each	\$1.1900	36	\$42.84	1
	Nashville Med. & EMS	Dick medical	61024CF	DM61024CF	Each	\$1.1900	36	\$42.84	1
	Bound Tree Medical	DMS	61024FF	60003	Each	\$1.5300	1	\$1.53	2
	Henry Schein, Inc.	Morrison	1560-20	2205819	Each	\$2.7300	20	\$54.60	m
	Moore Medical	Dukal		79687	Each	\$3.0700	1	\$3.07	4
20	Sprague Rappaport Style Stethoscope	ado:							
	Bound Tree Medical	Curaplex	36020	36020	Each	\$4.2500	50	\$212.50	1
	Midwest Medical Supply	Veridian	05-11001	VRD05-11001	Each	\$4.4400	50	\$222.00	2
	Nashville Med. & EMS	Kentron	104410	104410	Each	\$4.6500	50	\$232.50	3
	Henry Schein, Inc.	Medsource	MS-STBK	4992487	Each	\$6.0100	1	\$6.01	4
	Moore Medical	Moore		66248	Each	\$6.1100	20	\$122.20	2
21	Dupont Tyvek Coveralls w/ Hood & Boots No substitutions	& Boots No substitutions							
	Moore Medical	Tyvek	1225	M76824/L76825/XL	Each	\$4.8400	25	\$121.00	1
	Bound Tree Medical	Tyvek	1225		Each	\$5.4900	1	\$5.49	2
	Henry Schein, Inc.	Tyvek	1225		Each	No Bid	No Bid	No Bid	No Bid
	Midwest Medical Supply	Tyvek	1225		Each	No Bid	No Bid	No Bid	No Bid
	Nashville Med. & EMS	Tyvek	1225		Each	No Bid	No Bid	No Bid	No Bid
25	Antiseptic BioHand Sanitizer; 4 oz. No substitutions	No substitutions							
	Henry Schein, Inc.	Safetec	17350		Each	\$1.0100	24	\$24.24	1
	Moore Medical	Safetec	17350	55123	Each	\$1.0100	24	\$24.24	
	Bound Tree Medical	Safetec	17350		Each	\$1.1500	24	\$27.60	2
	Midwest Medical Supply	Safetec	17350		Each	\$1.2000	24	\$28.80	3

DACE COD

_		
5		
2	- 0	
_		
ň	<	
7	~	
44		

RANK	No Bid		1	2	æ	No Bid	No Bid		1	2	e	No Bid	No Bid		1	2	3	No Bid	No Bid		1	2	3	No Bid	No Bid		1	2	3	4	2		1	2	3	4
PRICE PER CASE	No Bid		\$15.95	\$16.35	\$17.03	No Bid	No Bid		\$15.95	\$16.35	\$17.03	No Bid	No Bid		\$16.35	\$16.99	\$17.03	No Bid	No Bid		\$19.92	\$19.95	\$20.72	No Bid	No Bid		\$28.80	\$12.30	\$28.80	\$63.84	\$48.96		\$25.76	\$29.70	\$40.68	\$48.42
CASE	No Bid		1	1	ı	No Bid	No Bid		-	T	-	No Bid	No Bid		7		1	No Bid	No Bid		1	-	П	No Bid	No Bid		16	9	12	16	12	No. of Persons in Column 1	16	18	18	18
PRICE PER UNIT	No Bid	The state of the s	\$15.9500	\$16.3500	\$17.0300	No Bid	No Bid		\$15.9500	\$16.3500	\$17.0300	No Bid	No Bid		\$16.3500	\$16.9900	\$17.0300	No Bid	No Bid		\$19.9200	\$19.9500	\$20.7200	No Bid	No Bid		\$1.8000	\$2.0500	\$2.4000	\$3.9900	\$4.0800		\$1.6100	\$1.6500	\$2.2600	\$2.6900
UNIT / BASE FOR	Each		Each	Each	Each	Each	Each		Each	Each	Each	Each	Each		Each	Each	Each	Each	Each		Each	Each	Each	Each	Each		Each	Each	Each	Each	Each		Each	Each	Each	Each
VENDORS ITEM #																											G0912	WEL6291	13935	BB5000-01	1530577		355001	WEL6290	15071	34-6290
MFG ITEM #	17350	The second secon	760-11AN	760-11AN	760-11AN	760-11AN	760-11AN		760-9CN	760-9CN	760-9CN	760-9CN	760-9CN		760-7IN	760-7IN	760-71N	760-7IN	760-71N		760-12XN	760-12XN	760-12XN	760-12XN	760-12XN		R5000-01	6291	2F7114	BB5000-01	2F7114		R5001-01	6290	2F7113	37-6290
MANUFACTURER	Safetec	substitutions	ADC	ADC	ADC	ADC	ADC	substitutions	ADC	ADC	ADC	ADC	ADC	substitutions	ADC	ADC	ADC	ADC	ADC	e No substitutions	ADC	ADC	ADC	ADC	ADC		B. Braun	Nurse Assist	Baxter	8. Braun	Baxter		B. Braun	Nurse Assist	Baxter	McKesson
DESCRIPTION	Nashville Med. & EMS	Blood pressure cuff; blue, adult No substitutions	Bound Tree Medical	Henry Schein, Inc.	Midwest Medical Supply	Moore Medical	Nashville Med. & EMS	Blood pressure cuff; blue, child No substitutions	Bound Tree Medical	Henry Schein, Inc.	Midwest Medical Supply	Moore Medical	Nashville Med. & EMS	Blood pressure cuff; blue, infant No substitutions	Henry Schein, Inc.	Bound Tree Medical	Midwest Medical Supply	Moore Medical	Nashville Med. & EMS	Blood pressure cuff; blue, adult large No substitutions	Henry Schein, Inc.	Bound Tree Medical	Midwest Medical Supply	Moore Medical	Nashville Med. & EMS	Sterile Water, 1000 mi bottles	Bound Tree Medical	Midwest Medical Supply	Moore Medical	Nashville Med. & EMS	Henry Schein, Inc.	Sterile Water, 500 ml bottles	Bound Tree Medical	Midwest Medical Supply	Moore Medical	Nashville Med. & EMS
NUM		53						54						55						- 26						57						28				

No Bid No Bid No Bid RANK S ₽ 2 m 4 S m 4 7 m 4 2 ന 4 П 7 ᠵᢇᡰ _ 7 m ന 4 PRICE PER CASE \$123.00 \$142.00 \$145.00 \$151.20 \$107.50 \$69.12 \$32.40 \$53.76 \$57.36 \$60.00 \$91.20 \$0.64 \$24.15 \$0.64 \$24.15 \$86.00 \$86.00 \$92.00 \$6.59 \$7.30 \$128.10 \$123.00 \$128.10 \$119.90 \$196.50 \$379.80 \$483.00 No Bid No Bid No Bid 210 210 35 210 200 200 200 200 150 1 1 60 18 24 24 24 24 24 ⊣ 8 No Bid No Bid No Bid CASE PACK \$7.3000 PRICE PER UNIT \$2.5000 \$3.8000 \$0.6400 \$0.4300 \$0.4600 \$1.3100 \$0.6900 \$145,0000 \$1.3500 \$2.2400 \$2.3900 \$0.5857 \$0.6100 \$0.6400 \$0.6100 \$119.9000 \$142.0000 \$0.4300 \$6.3300 \$6.5900 \$3.8400 \$0.6900 \$151,2000 \$0.4300 \$0.5857 No Bid No Bid No Bid AWARD BASE FOR AWARD UNIT/ Each **VENDORS ITEM #** 1530102 WEL6260 37-6260 1536483 4998402 **DUK721** 607112 886656 45311 75402 12945 11584 53884 73320 73270 MFG ITEM # W-SP1121 W-SP1121 W-SP1121 W-SP1121 2F7112 MS-B100 2F7112 37-6260 2F7112 886656 12945 2F7113 46727 46727 46727 46727 46727 46827 46827 46827 35755 35755 35755 35755 35755 46827 46827 6260 721 MANUFACTURER Technol PFR 95 Respirator - Regular No substitutions Kimberly Clark SAM MEDICAL SAM MEDICAL Technol PFR 95 Respirator - Small No Substitutions SAM MEDICAL SAM MEDICAL **Nurse Assist** Medsource McKesson Iron Duck Iron Duck Iron Duck Iron Duck Iron Duck Back Boards- Ultravue 18" NP No substitutions Curaplex Kentron Moore Baxter Baxter Baxter Dukal Sam Splint, 36" roll No substitutions Midwest Medical Supply Sterile Water, 250 ml bottles Nashville Med. & EMS **Bound Tree Medical Bound Tree Medical** Henry Schein, Inc. DESCRIPTION Henry Schein, Inc. Moore Medical Moore Medical Moore Medical Moore Medical Moore Medical Moore Medical Thermal Blankets Σ 29 8 61 62 63 8

RANK	No Bid		1	2	m	4	S		1	2	e	4	No Bid		1	2	м	4	2		1	2	No Bid	No Bid	No Bid		1	2	No Bid	No Bid	No Bid		1	No Bid	No Bid	No Bid
PRICE PER CASE	No Bid		\$44.90	\$117.25	\$47.80	\$59.30	\$72.60		\$70.56	\$63.36	\$93.60	\$117.12	No Bid		\$204.60	\$549.50	\$2,249.00	\$22.71	\$23.60		\$399.50	\$576.50	No Bid	No Bid	No Bid	0.000	\$399.50	\$576.50	No Bid	No Bid	No Bid		\$48.95	No Bid	No Bid	No Rid
CASE	No Bid		10	25	10	10	12		48	36	48	48	No Bid		10	25	100	1	1		10	10	No Bid	No Bid	No Bid		10	10	No Bid	No Bid	No Bid		η	No Bid	No Bid	No Bid
PRICE PER UNIT	No Bid		\$4.4900	\$4.6900	\$4.7800	\$5.9300	\$6.0500		\$1.4700	\$1.7600	\$1.9500	\$2.4400	No Bid		\$20.4600	\$21.9800	\$22.4900	\$22.7100	\$23.6000		\$39.9500	\$57.6500	No Bid	No Bid	No Bid		\$39.9500	\$57.6500	No Bid	No Bid	No Bid		\$48.9500	No Bid	No Bid	No Bid
UNIT / BASE FOR	Each		Each	Each	Each	Each	Each		Each	Each	Each	Each	Each		Each	Each	Each	Each	Each		Each	Each	Each	Each	Each		Each	Each	Each	Each	Each		Each	Each	Each	Fach
VENDORS ITEM #			540-1721EA	999700	MMD1702	68221	3262005		22294	1101011	TEX198-18	60711							93970			29234			AND AND A SECOND ASSESSMENT OF A SECOND ASSESSMENT AS A SECOND ASSESSMENT AS A SECOND ASSESSMENT AS A SECOND ASSESSMENT AS A SECOND AS A S			29233				ubstitutions				
MFG ITEM #	W-SP1121		1721	999700	1702	388	650-4001-000		7-006	175-35	198-18	711			23140	23140	23140	23140	23140	substitutions	313-7555XN	313-7555XN	313-7555XN	313-7555XN	313-7555XN	No substitutions	313-7556XNEA	313-7556XNEA	313-7556XNEA	313-5776NXEA	313-7556XNEA	-SET Valve, DISS No substitutions	677555	677555	677555	67755
MANUFACTURER	SAM MEDICAL		Motion Medical	Kentron	Motion Medical	Busse	DMS Holdings		Acme	Altaire	Medique	AFASSCO	Medique		North American	North American	North American	North American	North American	dult LG, w/3-SET valve No	Pulmodyne	Pulmodyne	Pulmodyne	Pulmodyne	Pulmodyne	Jult MED, w/3-SET valve	Pulmodyne	Pulmodyne	Pulmodyne	Pulmodyne	Pulmodyne	rac ED Mask, Adult LG, 3-	Pulmodyne	Pulmodyne	Pulmodyne	Pulmodyne
DESCRIPTION	Nashville Med. & EMS	OB Kits - Soft Pack	Bound Tree Medical	Nashville Med. & EMS	Midwest Medical Supply	Moore Medical	Henry Schein, Inc.	Eye Wash, 4 oz	Moore Medical	Henry Schein, Inc.	Midwest Medical Supply	Bound Tree Medical	Nashville Med. & EMS	CAT Tourniquet No substitutions	Henry Schein, Inc.	Bound Tree Medical	Nashville Med. & EMS	Midwest Medical Supply	Moore Medical	O2 Max BiTrac ED Mask, w/Neb, Adult LG, w/3-SET valve No	Bound Tree Medical	Moore Medical	Henry Schein, Inc.	Midwest Medical Supply	Nashville Med. & EMS	O2 Max BiTrac ED Mask, w/Neb, Adult MED, w/3-SET valve	Bound Tree Medical	Moore Medical	Henry Schein, Inc.	Midwest Medical Supply	Nashville Med. & EMS	CPAP/Capnography Kit, O2MAX BiTrac ED Mask, Adult LG, 3-	Bound Tree Medical	Henry Schein, Inc.	Midwest Medical Supply	Moore Medical
NUM		9						99						29						89						69						70				

	e de la deserva de la compansa del la compansa de la compansa del la compansa de la compansa del la compansa de					AWARD			
N O N	DESCRIPTION	MANUFACTURER	MFG ITEM #	VENDORS ITEM #	UNIT / BASE FOR AWARD	PRICE PER UNIT	CASE	PRICE PER CASE	RANK
- 1	Nashville Med. & EMS	Pulmodyne	677555		Each	No Bid	No Bid	No Bid	No Bid
4.5	71 CPAP/Capnography Kit; O2MAX BiTrac ED Mask, Adult MED, 3-	Trac ED Mask, Adult MED	; 3-SET Valve, DISS No substitutions	o substitutions	In the second se				
	Bound Tree Medical	Pulmodyne	677556		Each	\$48.9500	1	\$48.95	1
- 1	Henry Schein, Inc.	Pulmodyne	677556		Each	No Bid	No Bid	No Bid	No Bid
i	Midwest Medical Supply	Pulmodyne	677556		Each	No Bid	No Bid	No Bid	No Bid
- 1	Moore Medical	Pulmodyne	677556		Each	No Bid	No Bid	No Bid	No Bid
1	Nashville Med. & EMS	Pulmodyne	677556		Each	No Bid	No Bid	No Bid	No Bid
	Mega Movers Portable Transport Unit No Substitutions	Unit No Substitutions		of spirits of the contract terminal formation of the contraction of th	The same of the sa	Africa en esta de la companya de la companya en la companya de la companya del companya de la companya de la companya del companya de la companya del la companya de la com	defective and affine-termination from sources as assumption	emilia diamentary del mangantary de	W. W. College
	Bound Tree Medical	Graham	53376		Each	\$14.5500	10	\$1.45.50	1
	Midwest Medical Supply	Graham	53376	effective and the state of the	Each	\$20.7700	10	\$207.70	2
i	Henry Schein, Inc.	Graham	53376		Each	\$22.8400	10	\$228.40	3
Į	Moore Medical	Graham	53376	81329	Each	\$24.9100	10	\$249.10	4
	Nashville Med. & EMS	Graham	53376		Each	No Bid	No Bid	No Bid	No Bid

					/ LINO		4		
NUM DESCRIPTION	ION	MANUFACTURER	MFG ITEM #	VENDORS ITEM #	BASE FOR	PRICE PER UNIT	S S	PRICE PER CASE	RANK
					AWARD	A solitor	PACK		
VENDORS						<u>a</u>	HONE #		E-VERIFY
BOUNDTREE MEDICAL LLC. 5000 Tuttle Crossing Blvd. Dublin OH, 43016	000 Tuttle Crossir	g Blvd. Dublin OH, 43016	10			80	300-533-0523	6	yes
HENRY SCHEIN, INC. PO Box 3227, Irmo, SC 29063	3227, Irmo, SC 29(563				80	300-845-3350	0	yes
MIDWEST MEDICAL SUPPLY CO. 13400 Lakefront Dr., Earth City, MO 63045	10. 13400 Lakefro	int Dr., Earth City, MO 63	045			00	388-540-3232	2	yes
MOORE MEDICAL, LLC. 1690 New Britan Ave., Farmington,	New Britan Ave.,	Farmington, CT 03032				00	300-234-1464	<₹	yes
NASHVILLE MEDICAL & EMS PRODUCTS, INC. PO Box 64, Springfield, TN 37172	PRODUCTS, INC. P	O Box 64, Springfield, TN	37172			9	315-668-1147	7	yes

Local Vendors are indicated by the designation (LV). Award based off of Local Preference is indicated by the designation (LPA).

Local Preference was not used to award this bid.

Minor discrepancies between the case price on the submitted bid and the award are due to roundings.

RECOMMEND AWARDING TO ALL VENDORS BASED ON PRICE AND AVAILABILITY FOR THE 81D PERIOD 04/01/2018 - 03/31/2019.

Scott Cayaday, HCBCC Public Safety Director

Chris Davis, HCBCC Purchasing Manager

Gardy Cosburg, HCBCC County Administrator RECOMMENDATION APPROVED BY:

JTB 18-017 BLS